FOURIER TRANSFORM PAIRSfor the DTFT
The index-domain signal is x[n] for —co < n < oo;
and the frequency-domain values are X(e!¢) for —7 < w < 7.

Signal: x[n] Fourier Transform (DTFT): X(el*)
3[n] 1
s[n—n.] g len
(o¢]
1 (—00 < N < ) Z 27 8(w + 27r)
r=—o0
. (o.¢]
el (—oo < n<o0) > 2m8(w — w, + 27t)
r=—00
0 . .
CoS(wN+¢) (—oo<n<oo) |7 Y [e?8(w—w,+21r)+e 8w+ w, +2n1) ]
=—00
Satd . .
Sn(w.n+¢)  (—co<n<oo) |7 Y [—je?s(w—w,+2rr)+je 8w+ w, +2n7) ]
[=—00
snwcn ., .
= “sinc” function
n

i 1, |a)| S C()C
Joy _
X(e )_EO, we < o] <7

1, O0<n<lL
x[n]:{

Sjo-n/2 SN@L/2) a2 o
NOTE: pulselengthis L
1 > 5 )
un] m-Fr_Z 7 é(w+ 2nr)
=—00
a'un]  (a <) 1
1—ae o

n+Daun  (al <1 L

(1-—aei»)?
r"sinw,(n+ 1) 1
————u[n <1 . .
sinw, ) <1 1—2r cosw, e71? +r2 e~ i2»

o0

> sln—¢P] 2 8(w — 27k/ P)
l=—00 P k=

=—00




